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R5.3.1] 1 [#HvVoi{oRERH) 5,831 50 2,915 2,915 ] 0 0 0 0 0 0
R5.3.3] 2 |[sE—#y—2# (Sv—TF27 4+ RAKKEIBE) 17,9301 50 8, 965 0 0 0 0 0 0 8, 965 0
R5.3.8] 3 [Hvusi(UhShLe) 6,300 50| 3,199 3,199 0 0 0 0 0 0 0
R5.3.10] 4 |BESBARPCSA L2 Pa—u) 8,348 50 4,174 0 ] 0 0 0 0 4114 0
R5.3.10| 5 |(MIsEmnipmhmis s (2R 200, 0001 501 100, 000] 0 0 0f - 0 0 0 0| 100,000
RG.3.13| 6 |BBRARBARER Ya—) 2,884 50| 1,442 0 0 0 0 0 ol 1,442 0
R6.3.16| 7 |wnmmsAREER Ts—v) 2.772| so| 1.386 0 0 0 0 0 ol 1,386 0
R5.3.16] 8 [E{EFRNITazazy-bava’ )  H@HASIMHER ) (Zﬁ ) 1,975 50 3, 987 0 0] . 0 0 0 0 3,087 0
R5.3.19] 9 [#Hvuri{(oREGH 6, 437] 50 3,218 3,218 0 0 0 0 0 0 0
RS.3.22| 1o |[FEFRIEARRIADI2 100RRAK2ARG, 612R= 128,972{ 50| 64,486 0 0 0 0 of 64,486 0 0
RE.3.23] 11 |oE—#hori—RTH(EY/ ve—4T a0 TM) (2R 4,9181 50 2,459 0 0 0 0 0 ] 2, 459 0
R5.3.23| 12 |{E{ER (NTTasazg-yava 48) GA4) 7,869 50| 3,934 0 0 0 0 0 0| 3,934 ol
R5.3.25] 13 |#iideskos (PR GAM 4, 000 100' 4,000 0 0 0 0 4,000 0 0 . Ol
R5.3.25| 14 [ssBAmMEEs (ASEHE) GAS) 4,100 100| 4,100 0 0 0 of 4100 0 0 ol
R5.3.301 15 |HvUvR(oRERR 5, 595 50| 2,797 2,197 0 0 0 0 0 0 OF
R5.3.31] 16 {AMEY—R¥ GBI EWEI6E) 61,380 -50] 30.600] 30,690 9 0 0 0 9 9 0
] 0 0 o| 0 0 0 0 -0 0
388 475,410 241,752 42,818 0 0 0 8.100] 64,486 26,347 100,000
e 5, 564, 930 2,873, 436| 594, 241 0 0 0| 109,900 767,622 190, 849}1, 210, 824




